
COMPUTABILITY (19/11/2024)

OBSERVATION : A function which is total and not computable
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EXERCISE : TOTALITY

Totfel = "C is total" = "E halts on every imput"
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EFFECTIVE OPERATIONS ON COMPUTABLE FUNCTIONE

1 there a total computable function 5 : N2- N
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Exercise : Effectiveness of inverting a computable function
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EXERCISE : There is a total computable function 5:N

such that Espay) = Ex Ey
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I claime : S is the desired function
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EXERCISE : variant of uRM
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Exercise : Are there fig : N-N funchome sit.

② I computable , g not computable fog computable ?

② f not computable , I not computable fog computable ?


